O0OOO0o0ooo

o o o o o

ooooo

o o o o o

[ o o o

0000000 OO0OOO0ooooo

NSK Linear Guides

NSK O 0O0O0OOO

oo

00 @)
209521

ood

4-MXE

w L AmMxe Hi

[—

_B B

1 | | | ga

] :' (E——8" >- i . |

nXF

Lo

LE15
mE-ALLD 00000000 E-TLIO 00000 0OE-ARIMIOO0OOOE-TRIDUDOUO00DOUOO0N
oo 00000000 mmO 00000 0mmO 000000000 0 NG
DOo0 |0 00000000 L. | 3. |  [PI0PO00[0O0[000000( g [ G | Lemex [OOD0 [000
W| L [B]JmxOOOxe| | Wi| Hi | F | dxDxh | % joogomssf ¢ | G
LEOSAL | 6.5 17 |24 |13 | — |M25x045x2 17 |85 5.1/ 10| 4 20| 3x5x 16 |5 | 7.5 150 725 1110
LEO7TL |9 |25 /31 |19 10| M3x05x3 [21256| 7 | 14| 52 |30 |35x6x32| 7 |10 | 600 1580 | 2350
LEO9AL M2.6x 0.45x 3
LEoorL 12 |30 /39 |21 12 VE¥I¥% 276 78| 8 | 18| 75 |30 |35x 6x 45/ 9 (10 | 800 | 3000 | 4500
LEO9AR M2.6x 0.45x 3
LEooTR |12 |30 /398 21 |12 M 90%107.6/7.8| 8 | 18| 7.5 |30 35x 6x 45/ 9 |10 | 800 | 3000 | 4500
LE12AL 44
LEIoAR |14 |40 |42 |28 |15 | M3x05x4 (31 |8 |10 |24 85 |40 45x 8x 4512 |15 | 1000 | 4350 | 6350
LE15AL 55
LE1oAR |16 |60 |22 0145 |20 | M4x07x45 38.4/9.2 |12 | 42 | 9.5 | 40 45x 8x 45| 9515 | 1200 | 7600 | 10400
m |l E-BLOODOOOOOE-ULIDOOO0dddng
LEO7UL | O] 2542 |10 19 M3x05¢3 [32.2] 6.6] 7] 14| 52 |30 [35x 6x3.2] 7 [ 10| 600 2180 | 3700
LEO9BL M2.6x 0.45x 3 75
LEooUL | 12 |30 |50.4| 23 24 ME¥I9n 9139 | [2 8] 18| 75 |30 |35x 6x 45/ 9 |10 800 | 4000 | 6700
LE12BL |14 |40 |59 |28 |28 | M3x05x4 |46 |9 | 10|24 | 85 |40 |45x 8x 4512 |15 | 1000 | 5800 | 9550
LEI5BL | 16 | 60 | 74.4| 45 | 35 | M4x 0.7x 45 [57.8/11.4/ 12 | 42 | 95 | 40 [4.5x 8x 45| 9.5/ 15 | 1200 | 10300 | 16000
mlE-CLINOOOMNO ELE-SLD] goboobodgd
LEOSCL | 6.5/ 17 |20 |13 M2.5x 0.45x 2 13 | 6.5| 5.1/ 10 | 4 20 | 3x5x16 |5 | 7.5 150 595 835
LEO7SL | 9 [25|22.4]19 | — | M3x05x3 [126/6.3| 7 | 14| 52 |30 |3.5x 6x3.2| 7 |10 | 600 | 980 | 1170
LEO9CL M2.6x 0.45x 3
LEoosL |12 |30 264|210 | — [MEX 20905 175/ 8 18| 7.5 30 |35x6x45 9 |10 | 800 | 1860 | 2240
LEI2CL [14 | 40 30528 | — | M3x05x4 [17.5/8.7510 | 24 | 85 | 40 |4.5x 8x 4512 |15 | 1000 | 2700 | 3150
LEI5CL |16 |60 1414145 M4x 0.7x 45 24.8|112.4/12 | 42 | 9.5 | 40 |4.5x 8x 45| 9.5/15 | 1200 | 5000 | 5650
u LEDDDDDDLED]DDDDDDD]D
LED 0000000 LE 0000000 LE 0000000 || LEmd000000
ooo ooo ooo ooo ooo ooo ooo ooo ooo ooo
LEO7TLS | 6,700 || LEO9ALS | 7,700 | LEO9BLS | 9,800 || LEI2ALS | 7,800 || LEISALS | 8,900
LEO7ULS 8,100 LEQO9TLS 7,700 LEOQULS 9,800 LE12ARS 7,800 LE15ARS 8,900
LEO7SLS | 5,400 || LEO9ARS | 7,700 | LEO9CLS | 6,300 || LEI12BLS | 10,300 || LE15BLS | 11,600
LEO9TRS | 7,700 | LE09SLS | 6300 || LE12CLS | 6.900 || LEI5CLS | 7.400
O00000000000LAESOOO0O0OKIOOODOOOO0OD0O0O000o0ooo0
m L E-SIHO0J00gmgoooogn
L1E070 0 0 (0 SO L1E090 0 O (1 S0 L1E1200 000 SO L1IE1500 0 C0 SO
000 000 000 000 000 000 000 000
oo ooooao oo ooooa oo aooooo oo ooooa oo ooooa oo ooooa oo ooooo oo ooooa
0050/ 3,200 [0320 24,900 [0050] 3,500 [0320 22,700 |0070| 3,900 |0430 24,900 [0070| 6,600 [0430 29,700
0080/ 5,000 | 0350 27,500 [0080| 5,700 [0350 25,100 |0110| 5800 | 0470 27,200 [0110] 7,400 |0470 | 32,700
0110| 6,000 /0380 30,200 |0110| 7,100 [0380| 27,400 |0150| 8,000 |0510| 29,800 |0150| 10,000 | 0510 | 35,900
0140/ 6,900 | 0410 32,900 [0140] 9,000 [0410| 29,900 |0190| 10,300 [0550 32,500 [0190] 12,700 [0550 38,700
0170/ 8,100 | 0440 35,600 [0170] 10,800 |0440 | 32,400 |0230| 12,500 | 0590 35,200 (0230 15,600 [0590 | 42,200
0200/ 10,600 | 0470 38,600 [0200] 12,600 [0470 35,000 |0270| 14,500 | 0630 38,000 (0270 18,400 |0630 45,600
0230/ 14,500 | 0500 41,400 [0230] 14,800 [0500 37,600 |0310| 17.400 | 0670 40,800 [0310] 21,200 |0670 | 48,800
0260/ 17,900 | 0530 44,300 [0260] 16,400 [0530 | 40,200 |0350| 20,100 | 0710 43,700 [0350] 24,200 |0710 52,200
0290/ 22,400 | 0560 47,300 [0290] 20,300 [0560 43,000 10390| 22,400 [0750] 46,700 [0390] 26,900 [0750 55,700

O0LEO70O0O00O00O0O0O0OO0ODOOOOOOOOOO0

w
@-152 -
t? [Ros)



